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B{ER : 2023403H26H AN# 574 (BiE:5148 it 64)
BREAE  NUT 48 BEIERF : v DRV FUTRIAT
TR « #IFREE L HDCP#IIR
BELA—IL
0T HRBBBEED@®® INDQRB@B®DE®® DRB@EEDE®O
PAR 4354534414 PAR 445434354 PAR
IE {iz B E A ouT IN GROSS | HDCP NET 28
2 BAE oME 47| 38 85 11.0 74.0
EEBHFELR BRX 41| 46 87 10.0 77.0
fr|=5d  fEH 42| 40 82 5.0 77.0
AM|lFHO 3BT 41| 46 87 9.0 78.0
SrlEd &E— 46| 45 91 13.0 78.0
6fz|fE EE 45 44 89 10.0 79.0
Il =B 47| 42 89 10.0 79.0
8fI[EM IEsE 44| 48 92 12.0 80.0
Ohz|H + = 47| 46 93 13.0 80.0
10467|A RSB 48| 43 91 11.0 80.0
1I|7%S5 BHE 46| 47 93 12.0 81.0
12621HF EEZ 42| 43 85 4.0 81.0
134z O0 =HF 50, 45 95 14.0 81.0
14GCI(REE 1E3E 47| 49 96 14.0 82.0
15 |Ee1E [0 53 44 97 15.0 82.0
1648 %= 47| 51 98 15.0 83.0
174674+ ZRaA 47| 50 97 14.0 83.0
18L|EEm -5 48, 49 97 14.0 83.0
19ff[DUONG QUAN| 51 44 95 12.0 83.0
2046I|/® EE 47| 49 96 12.0 84.0
21467 (ftE  shE 51| 48 99 14.0 85.0
2206[|8 FHE 50 43 93 8.0 85.0
23GI|pEA E—EBp 44| 51 95 9.0 86.0
pZ:EivA == TN TR 49| 50 99 13.0 86.0
25|t 1%5Eh 48| 48 96 10.0 86.0
26fiI|[{RiE FER 52 49 101 15.0 86.0
216I|ERE @R 50 47 97 10.0 87.0
28fI(EAT ER 56| 46 102 15.0 87.0
29| AR  ANTER 44| 59 103 15.0 88.0
SOGI|LEF ZEA 43| 48 91 3.0 88.0
SIGI|EHF & 47| 52 99 11.0 88.0
2(I|fFEH — 53 50 103 15.0 88.0
LI H  IE 53 47 100 12.0 88.0
AL R%Z  FZ 50 50 100 10.0 90.0
5fI|ZH FE 53 52 105 15.0 90.0
6fz|AF FE#H 54/ 43 97 7.0 90.0
SILLIFAR #EX 54/ 43 97 7.0 90.0
BI|eR XEB 47| 53 100 9.0 91.0
39GI|UAR & 50, 55 105 13.0 92.0
W6 RE Fil 500 52 102 10.0 92.0
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IE {iz B E A ouT IN GROSS | HDCP NET 28
MNEL|RE B 51| 53 104 12.0 92.0
A0 # 52| 52 104 12.0 92.0
BEAEEH EZ 52 50 102 10.0 92.0
MEIER  IEH 54/ 50 104 12.0 92.0
= 45 60 105 12.0 93.0
464I|KF9  HF 55 54 109 15.0 94.0
AR E &FHE 53 49 102 8.0 94.0
4841 |2 e 56| 47 103 9.0 94.0
A9 | PEF0 58 47 105 11.0 94.0
50firjig R 48 51 99 3.0 96.0
S1|Hd & 53 54 107 10.0 97.0
S2HI[RER  BR— 50 52 102 20| 1000
S3fi[ikiE FEH 59| 57 116 150 101.0
S44sIjthsitr X B 57| 58 115 12.0 103.0
NR|XH = 39 39 0.0 39.0
NR[{E#E EF 41 41 0.0 41.0
NRIRE BX 41| 53 94 11.0 83.0
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